GENERAL APTITUDE

1. If the length and width of a rectangle are 15 cm and 13 cm, then find its area.
(A) 195 sq. m (B) 198 sq. cm
(C) 195 sq. cm (D) 198 sq. m
afy feddi emd @ R @R WeR 15 9 @ik 13 ¥ €, @ s
CELICIE IS IE
(A) 195 a7 #t (B) 198 =@ @
(C) 195 =@ §Ht (D) 198 =

2. If 37 _3"71 —1g, then the value of n" is :
(A) 3 B) 8
©) 27 (D) 216
afs 3"-3"1=18 ¥, @ p" H HA ®
(A) 3 B) 8

(C) 27 (D) 216

3. Solve : 1%+20—280+25: ?
1
GV B) 9—

1 3
© 113 @) 103
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TA HIfVT ]%+20—280+25: ?

1
(A) 85 ®) 97
1 3
— 10—
© 1135 @) 103

4. The present age of the son is half of the present age of his mother. Ten years

ago, his mother’s age was thrice the age of her son. What is the present age of

the son ?
(A) 20 years (B) 25 years
(C) 30 years (D) 40 years

T HI GOHF S SHRI W HI GGAE g Hi emdt ¥ 1 @ a9 wEd,
STRT W HI Y SHS FS HI NG HI AW THE o | F W TEN A

T ?
(A) 20 T4 (B) 25 T8
(C) 30 = (D) 40 =4

5. A man walking at the rate of 5 km/hr., crosses a bridge in 15 minutes. The length

of the bridge (in meters) is :
(A) 600 (B) 1000
(C) 1250 (D) 1500
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TH eEHt 5 fRHisE o vfa @ W9 w1 ® @ 15 e § Ot g & U
A T | B oaerE (H H) ? e

(A) 600 (B) 1000

(C) 1250 (D) 1500

6. The square root of 0.0196 is :

(A) 1.4 (B) 1.04
(€) 0.14 (D) 0.014
00196 @ ga & :

(A) 14 (B) 1.04
(C) 0.14 (D) 0.014

7. Ifx*y=(x+3) (y - 1), then the value of 5 * 4 is :
(A) 172 (B) 180
(C) 182 (D) 192
g x *y=(x+32 (-1, @ 5*4 & AF 2
(A) 172 (B) 180
(C) 182 (D) 192
8. The cost price of an article is Rs. 7,840. What should be the selling price of the
article so that there is a profit of 7% ?
(A) Rs. 8,000 (B) Rs. 8,300

(C) Rs. 8,388.80 (D) Rs. 8,500.50
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TH % I AN Ged 7,840 ¥ € | a% I A% Hod FM OB AIET
aifes 7% w1 AT @' O?

(A) 8,000 TT (B) 8,300 TTA
(C) 8,388.80 TWd (D) 8,500.50 &9

9. The average of the first 10 perfect squares is :

(A) 385 (B) 425
(C) 485 (D) 52.5
Ted 10 gf o w1 eiwd ? o

(A) 385 (B) 425
(C) 485 (D) 525

10. Find the roots of the quadratic equation :

x*—2x-3=0.
(A) -3, 1 B) 3, -1
€ -3,-1 D) 3,1
fgama wefteRToT

x*—2x-3=0.
% YA T[N
(A) -3, 1 B) 3, -1
€ -3,-1 D) 3,1

11. Fog : Visibility : : AIDS : ..............
(A) Health (B) Virus

(C) Resistance (D) Death

(5)M-23012-D(TR) 4



12.

HET : TAA ¢ : TEH e
(A) @& (B) 9™

(C) dfay (D) 99

Direction : Read the following information carefully and answer the question

given below :

Starting from point X, Jazzy walked 15 m towards the West. He turned left and
walked 20 m. He then turned left and walked 15 m. After this, he turned to his

right and walked 12 m.
In which direction is now Jazzy from X ?
(A) East (B) West

(C) North (D) South

fdor : fafafgd S #1 sagds ufer ik F T 7w g w1 SW
EUSL

fag X ¥ Y& &, Sei ufvmm &1 SR 15 X =an | 9% anfi $iR gel
R 20 HX W | R g WEff @R g @R 15 HiX Wen | e WK,
I AT T SR HI W 12 HR = |

3m St X ° few feom § 2 2
(A) 7o (B) dfv=m

(C) 3| (D) =faor

(5)M-23012-D(TR) 5 P.T.O.



13.

14.

15.

Direction : Choose the correct alternative from the given ones that will complete

the series

4,8, 10, 14, 16, 20, ?

(A) 16 (B) 20

() 21 (D) 22

fdor : fau U fosedl ¥ ® 3 wE fowew MU S oyEen w g owdm:
4, 8, 10, 14, 16, 20, ?

(A) 16 (B) 20

©) 21 (D) 22

Anil said to Nilesh, “That boy playing with the football is the younger of the
two brothers of the daughter of my father’s wife.” How is the boy playing football

related to Anil ?
(A) Son (B) Brother

(C) Cousin (D) Brother-in-law

siftg * el 9 wer, Cwedid § Wod den 98 dgdl W faar @b ue
AR H Q9 H W B TN wedd God a wgdl Aafia |
e weR wefem ® 2

(A) == (B)

(C) =4 E (D) =&

If P means x, R means +, T means ~ and S means —, then IS8 T3 P9S8R 6=7?
(A) 46 (B) 48

(C) 50 (D) 52

(5)M-23012-D(TR) 6



afe P& &1 x, R &1 &1 + T a1 a1 = genm S &1 a1ef - 2, @

I8T3P9S8RO6=7
(A) 46 (B) 48

(C) 50 (D) 52

16. Find the missing term :

G

(A) 330 (B) 336
(C) 420 (D) 428
q@ T€ A SN e

&

(A) 330 (B) 336

(C) 420 (D) 428
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17.

18.

Direction : Study this question carefully and choose the right answer :

If ‘CYCLONE’ is coded as ONEMCYC, then what is the code for ‘TSUNAMI" ?
(A) SMTAIOU (B) AMITSOU

(C) AMIOTSU (D) MIATSOU

fador @ 3@ W W wNyEs semEd sifey SR wEl SW g

afg ‘CYCLONE’ @1 ONEMCYC & %9 H #Heag f&a1 <@ g
‘TSUNAMI’ @l &1 %2 fear smom ?

(A) SMTAIOU (B) AMITSOU
(C) AMIOTSU (D) MIATSOU

Find out which of the diagrams as given in the alternatives correctly represents

the relationship stated below :

Boys, Students, Athletes

@& |©,|@ |
(a) (b) () (d)
(A) (@) B) (®)

©) (© (D) (d)

A Hifew fe fokedl & fRu @ smal & ¥ +qw 9 fRu T dey w6
wEl B 9 quial ®©

AgH, BH, TUCAR

BoJ@e

(a) (b) (c) (d)

(A) (a) (B) (b)
€) (¢ D) @

(5)M-23012-D(TR) 8



19.

20.

In a row of girls, Sujata is 10th from the left and Namita is 9th from the right.
If they interchange their positions, Sujata becomes 23rd from the left. How many
girls are there in the row ?

(A) 30 (B) 31

(C) 32 (D) 34

defeal w1 TH Ui H, g o9 ¥ 109 ®WH W ¥ AR Afgar ¢ ¥ od
WH W e | AR 3 Hw WA 9 o, Al gemal &g 9 238 W W A
it ? 1 U o TRt orefeal 2

(A) 30 (B) 31

€) 32 (D) 34

Identify the figure that completes the pattern :

G i

(X) (1) (2) (3) (4)
(A) (1) B) ()
©) 3) D) @

Y oBfd W TEET W Ued Hl qu e @

w1y
Na7

vt P,

1 ~1 [RKA1l KN V.Y,
A N N B8 K

(X) M (2) (3) (4)

(A) (1) B) ()
©) 3) D) @

(5)M-23012-D(TR) 9 P.T.O.



21.

22,

23,

24,

GENERAL ENGLISH

Choose one of the following options that means the opposite of the given word :

IMPARTIAL
(A) Hostile (B) Biased
(C) Dislike (D) Worried

Choose one of the following options that means similar to the given word :

DISTORT
(A) Wrong (B) Ewvil
(C) Deform (D) Harm

Find the correctly spelt word :
(A) Irelevant (B) Irrelevent

(C) Irelevent (D) Irrelevant

Out of the four alternatives, choose the one which can be substituted for the given

sentence :
That which cannot be avoided
(A) Inevitable (B) [Irreparable

(C) Incomparable (D) Indisputable

(5)M-23012-D(TR) 10



25.

26.

27.

In this question, four alternatives are given for the Idiom/Phrase in bold in the
sentence. Choose the alternative which best expresses the meaning of the Idiom/

Phrase as your answer :

Leaders should not only make speeches; they should also be prepared to bell the

cat.

(A) To take the lead in danger
(B) To tie a bell to a cat's neck
(C) To be alert of the enemy

(D) To make noise

Fill in the blank with an appropriate preposition :

I was astonished................ the sad news.
(A) to (B) at
(C) with (D) in

Given below are four jumbled sentences. Select the option that gives their correct

order :

P : They have no mind of their own.

Q : It is misleading to imagine that computers can think like humans.
R : However, they make it possible for people to accumulate thoughts.
S : They cannot do so.

(A) QSPR (B) QPRS

(C) PRQS (D) PQRS

(5)M-23012-D(TR) 11 P.T.O.



28.

29.

30.

31.

In this question, a sentence given with blanks is to be filled in with an appropriate

word(s). Choose the correct alternative out of the four :

She was so............. that she was............... by all.
(A) proud : respected (B) excellent : warned
(C) talented : praised (D) stupid : admired

Direction : In this question, a sentence/part of the sentence is bold. Below are
given alternatives to the bold sentence/part of the sentence which may improve

the sentence. Choose the correct alternative :

Will you lend me few rupees in this hour of need ?
(A) lend me any rupees

(B) borrow me a few rupees

(C) lend me a few rupees

(D) No improvement

Fill in the blank :

He is................ honest man.
(A) an (B) a
(C) the (D) None of these

Direction : In this question, a sentence is given with a blank to be filled in with

an appropriate word. Choose the correct alternative out of the four :

If you were found guilty of exceeding the speed limit, you.............. to pay a fine.
(A) would have (B) would had
(C) will have (D) have

(5)M-23012-D(TR) 12



32. A sentence has been given in direct form. Out of the four alternatives, choose

the one that best expresses the same sentence in indirect form :
He said, “I shall try to bring you the books tomorrow”.

(A) He said that he would try to bring me the books tomorrow.
(B) He said that he should try to bring me the books tomorrow.
(C) He said that he would try to bring me the books the next day.
(D) He said that he should try to bring me the books the next day.

33. Change the voice :
She answered fifty questions in one hour.
(A) Fifty questions have been answered by her in one hour.
(B) Fifty questions were being answered by her in one hour.
(C) Fifty questions were answered by her in one hour.

(D) Fifty questions are answered by her in one hour.

34. Direction : In this question, a sentence is divided into four parts. There is an
error in one of the parts, which makes the sentence grammatically or contextually

incorrect. Choose the option with the part containing error :
Everyone knows/that the leopard is/faster/of all animals.
(A) Everyone knows

(B) that the leopard is

(C) faster

(D) of all animals

35. Instruction : Choose the most appropriate adjective from the options to fill in
the blank :

The once bustling marketplace was now a............. sight, with empty stalls and
deserted streets.

(A) vibrant (B) forlorn
(C) boisterous (D) thriving

(5)M-23012-D(TR) 13 P.T.O.



Direction (Q. Nos. 36 to 40) : Read the passage carefully and answer the following

questions :

It is notable that power major NTPC has joined hands with oil giant I0C to set
up a series of electric vehicle (EV) charging stations in cities and along highways.
There is much potential for India to emerge as a leader in small and public EVs,
given high latent demand. The benefits in reducing demand for imported crude
oil can be huge, apart from reducing carbon emissions and other air pollutants.
The most effective way to bring down carbon emissions and pollution from
transport is to vastly expand and improve public transport-buses are just 2% of
the vehicles on the road. That said, there is much scope to replace India's giant
fleet of two-wheelers with electric bikes. India has over 170 million two-wheelers,
and sales data from the last six years show that 79% of on-road vehicles here
are two-wheelers. It would make perfect sense to boost the supply of EVs,
especially two-wheelers, e-rickshaws, tempos and small cars, so as to complement
and supplement public transport going forward. Estimates suggest that by meeting
a rising part of the incremental demand for mobility, EVs can lead to
macroeconomic benefits and sooner rather than later. Assuming only about half a
litre of petrol consumption per two-wheeler daily, or about 200 litres annually,
the volumes would add up to over 30 billion litres. And the bill for which, at
current prices, would amount to well over Rs. 2 lakh crore. In tandem, we need
power reforms to rev up utility realisations and strengthen the grid. India also
has an opportunity to supply on-board electric batteries. Swapping services to
provide charged batteries on the lease would step up the diffusion of EVs. A
power-electronics industry ecosystem would raise production and provide high-

efficiency subsystems for EVs. India must not miss the bus on EVs.

(5)M-23012-D(TR) 14



36.

37.

38.

39.

40.

“There 1s much potential for India to emerge as a leader in small and public EVs,
given high latent demand.” What can be logically deducted from the given

sentence ?

I.  Electric vehicles are less in developed countries as compared to India.
II. India has not yet adopted electric vehicles fully.

III. Indians are already demanding a huge number of electric vehicles.
(A) Only III (B) Only II

(C) Only I and III (D) All of I, 11 and III

What is the tone of the passage ?
(A) Sarcastic (B) Caustic
(C) Cynical (D) Laudatory

What can be a suitable title for the given passage ?
(A) Future of electric vehicles

(B) Charging stations in cities

(C) Gear up for e-surge in buses and bikes

(D) Bring down carbon emissions

Which of the following words is the most similar in meaning to the given phrase ?

In tandem
(A) Tantalise (B) Triode
(C) Together (D) Trespass

Which of the following words is the most opposite in meaning to the given word ?

Complement
(A) Condemn (B) Criticize
(C) Culminate (D) Contrast

(5)M-23012-D(TR) 15 P.T.O.



GENERAL HINDI

41, T ¥ FOINE HiF HAH T ?

(A) q&H (B) 3WISH
(C) el (D) W
42, TH ¥ ‘TE & o wkEH &k WEHA DA T ?

(A) J7a=
(B) = FAR
(C) AfeHfacie vl
(D) T vEl ‘el
43. T W HFE V=K AEaEh GO € ?
(A) T=31 (B) =«
(C) =i (D) ST
4. TH ¥ I U= AfFEEw g OT ?
(A) #Hdl (B) fewrerm
(C) firre (D) WMt

45. T ¥ wAE TR Yfewm B2
(A) SUI (B) Wl

(C) Hiur (D) wwf

(5)M-23012-D(TR) 16



46. T ¥ wE@ = WHfET 7 2
(A) *q B) T
(€) 7™ (D) F=A
47. T W HAE UK awHd T 2
(A) & (B) &=l
(C) @ (D) e
48. T W HTE UK GgdaEd € ?
(A) weft (B) @

(©) (D) =

49. Y8 R ¥ I o | TH 9 W HiA9 HRE b Tag o ¥AT g @ 2
(A) Fra-Hhh (B) U
(C) Hhaleh (D) HHEHRRR
50, T W HAE TR UG T 2
(A) THTER (B) T
(C) =™ (D) wHIm
51, 3 @ ®AW UK YS ? 2
(A) THET (B) anfewant

(C) faema (D) 9IHH

(5)M-23012-D(TR) 17 P.T.O.



52, T 9 FAE G YS € 7
(A) T9 4 ¥R 9@ TR |
(B) 91 &Sl & A9 Fded |

(C) 9e Hi-%i f&di o a2 |

(D) 9 ¥H% Hell SEd B

53. ‘s wet T HW' aebifed w1 @ Y € 2
(A) werpE
(B) @ N FAE W T @WW T
(C) wifeh sa @ difges aa orfus sl el @

(D) T & fawda ™

54. ‘ogd & qEEA’ HEA 1 @ Y ® 2
(A) WEE HH H T HL
B) W ¥ & 4 T
©) 7@
(D) fordt
55. ‘Sl TgU a1 ©' aeETS % fau HEl UH vk Wl © 7
(A) w&l B) dfe
(©) vt (D) o=

(5)M-23012-D(TR) 18



56. “‘f5@ fvR w1 9 o favam T ¥ ammers % fOu M@ U s Wl

gz 2
(A) A (B) <o
(C) wifefa (D) &R

57. T 9 ®HAE V= TEuAEs §aAH € 2
(A) %B B) M
€ = (D) =l
58. ‘fammefl’ v w1 wEr wiy-famsg @ ¥ 2
(A) fom + snef (B) famn + e

(C) fomm + amefi (D) fa=it + omef

59, ‘S’ Y w1 qAEATH W wiAE € 2
(A) S (B) wf
(C) e (D) 1

60. ‘ot W W fawidedw weg wEEr € 2
(A) 54 (B) g

(C) 9= (D) fama

(5)M-23012-D(TR) 19 P.T.O.



GENERAL KNOWLEDGE

61. In which district is Central University Haryana located ?
(A) Rohtak (B) Kurukshetra

(C) Mahendragarh (D) Rewari

s favafaaea, sfamm fea oo o fem 2 02
(A) Teds (B) FHEe
(C) WX (D) el

62. Who was the first Chief Minister of Haryana ?
(A) Pt. Bhagwat Dayal Sharma
(B) Chaudhary Devi Lal
(C) Chaudhary Bansi Lal
(D) Rao Virendra Singh
s ® T gems wH 9 2
(A) 9. WEd A el
(B) =l <t
(C) =’ &€t e
(D) wE g fez
63. Which of the following is the largest rice-producing district of Haryana ?
(A) Sirsa (B) Karnal
(C) Hisar (D) Panchkula

(5)M-23012-D(TR) 20



64.

65.

frefafgd § @ SH@ gRE0T % GEW W8l WEe SARS (e € ?

(A) fazan (B) A

(€) feur (D) el

Where is Asia’s largest sugar mill located ?

(A) Karnataka (B) Uttar Pradesh
(C) West Bengal (D) Maharashtra
ufern & wed =€ W faw wel feem @2

(A) e (B) SW W

(C) ufy=m e (D) WEN=

When is ‘National Youth Day’ celebrated ?

(A) 12 January (B) 9 January
(C) 15 January (D) 18 January
‘g gar ke’ &9 wEEn oW 22

(A) 12 S (B) 9 S

(C) 15 <Had (D) 18 SHE

(5)M-23012-D(TR) 21

P.T.O.



66. Which colour is at the bottom of the National Flag of India ?
(A) White (B) Saffron
(C) Green (D) Red
YR & UG a9 & gaq A9 e T 8 ?
(A) %3 (B) hafan

(C) =1 (D) <

67. ‘ODI’ in Cricket stands for :
(A) One Day International
(B) One Day Innings
(C) On Date Innings
(D) None of the above
fhhe ® ‘ODI’ w1 @19f ¥
(A) TF feoEa ol
(B) % fead W
(C) & 2z i

(D) SWEs § | HE I

(5)M-23012-D(TR) 22



68. What is the minimum age eligibility to contest Panchayat elections ?

(A) 25 years (B) 30 years

(C) 21 years (D) 18 years

TAd gAE s % fau SEad g el A © 2
(A) 25 T4 (B) 30 =9

(C) 21 =d (D) 18 =

69. Which of the following rivers is used for inland waterways ?
(A) Luni (B) Mahi
(C) Ganga (D) Kaveri
frefafed § @ fFg 98 w1 SwEm sfadeia Somm & fem fear smr ® 2
(A) Tt (B) wE

(C) Tm (D) e

70. ‘Yellow revolution’ is associated with which of the following ?
(A) Production of paddy
(B) Production of tea
(C) Production of oilseeds

(D) Production of flowers

(5)M-23012-D(TR) 23 P.T.O.



71.

‘“dieft wifa’ frefafed & @ frge wefm 22

(A) 9H H I

(B) =M@ & SR

(C) Taees =1 3IcUrRA

(D) &l H ScEA

Which of the following missions was founded by Dayanand Saraswati ?
(A) Arya Samaj

(B) Prarthana Samaj

(C) Brahmo Samaj

(D) Chinmaya Mission

Fefafgd 5 9 fem fiem &1 oo qgmEg w&Ed 9 &t ?
(A) e 9u

(B) WA HHN

(C) s& HHS

(D) Fowa faem

(5)M-23012-D(TR) 24



72. Which of the following is the National Game of India ?
(A) Kabaddi (B) Cricket
(C) Hockey (D) Kho-Kho
frafafes § ¥ @ 9K W TEE w@ § 2
(A) ®ag1 B) fwse

(C) =fenl (D) w@-@

73. ‘Abolition of Untouchability’ is mentioned in which of the following Articles ?
(A) Article 20 (B) Article 19

(C) Article 18 (D) Article 17

‘STEYEAl SeH’ 1 Seole fefdfed W W W ergest W O® 2
(A) T=T 20 (B) =T 19
() *1g=s 18 (D) =R 17

74. Who among the following is the First female President of India ?
(A) Indira Gandhi
(B) Pratibha Devi Singh Patil
(C) Sarojini Naidu
(D) Draupadi Murmu

(5)M-23012-D(TR) 25 P.T.O.



frafafgd § § ®F 9RG k1 Tedl Higen wwgufd € 2
(A) sfgu e

(B) ufaw <ot fag wifea

(C) wferf g,

(D) & 7Y

75. The capital of Karnataka is :
(A) Bengaluru (B) Mysore
(C) Chennai (D) None of these
FAlewm H TIEE T e
(A) e B) W
(€) == (D) T ¥ HE T

76. Which of the following is an actor ?
(A) Yogeshwar Dutt
(B) Neeraj Chopra
(C) Randeep Hooda

(D) Shubman Gill

(5)M-23012-D(TR) 26



77.

78.

freafafed § 9 &F wH i@ © 2
(A) ISR TT
(B) s =
(©) T g

(D) e fire

What was the real name of Swami Vivekananda ?
(A) Bilendra Chandra Datta

(B) Narendranath Datta

(C) Narendra Kumar Datta

(D) Bilendra Kumar Datta

@ foesH= &1 arafas AW F® o ?

(A) foelz =5 =@

(B) T&EAY @

(C) s HAR <

(D) foefs AR <

Where is the largest Harappan site found in India ?
(A) Mitathal (B) Rakhigarhi

(C) Siswal (D) Kunal

(5)M-23012-D(TR) 27 P.T.O.



79.

80.

YRd § Wad 98] TSR €W el A T € ?

(A) fraera (B) TETE!

(C) wrgard (D) &

Which scheme has been announced by the Haryana Government for the welfare
of poor girls ?

(A) Devi Rupak Scheme (B) Apni Beti Apna Dhan

(C) Bhagyodaya Scheme (D) Indira Saheli Scheme

A WHR A TWE ASfRAl H weAM & AU fHEE ASET HIOCSEOM i
22

(A) T ®US A (B) Tl W@ oq &

(C) e HromT (D) U weet @

What is the term used for the point on the Earth’s surface directly above the

location where an earthquake originates ?

(A) Epicentre (B) Focus

(C) Fault (D) None of these

oAl I WA W I WM & Ik SR T fag & fau Wy u= wm
g Wl 9g%9 IO e g ?

(A) THHEX (B) I

(C) wiee (D) T ¥ HE &l

(5)M-23012-D(TR) 28



81.

82,

83.

FUNDAMENTALS OF COMPUTERS

The term BUS is related to a

(A) Processor (B) Printer
(C) Keyboard (D) Monitor
BUS  Iag ¥ wafed T

(A) TET ®) fix
(C) =IErg (D) WX

................... is used to choose between incrementing the PC or performing ALU

operations.
(A) Conditional codes (B) Multiplexer
(C) Control unit (D) Compiler

................... w1 ITEM WEH. W FeM AW LAY, Gded & % a4 9
F0 & fau fea @ ©

(A) W9 wls (B) WeeTwia

(C) fm zehig (D) =HIReR

The registers, ALU and the interconnection between them are collectively called

as .
(A) process route (B) information trail
(C) information path (D) data path

(5)M-23012-D(TR) 29 P.T.O.



W,MUﬁﬁﬁﬁﬁaﬁaﬁwm@ ................... — Y
(A) Wl = (B) I A

(C) g= ™ (D) ==& WY

84. Monitor is a/an :

(A) Output Device (B) Package Software
(C) Application Software (D) System Device
HIFFRT T T

(A) omSeye feamd (B) TS W
(C) TwiihyA HiFaR (D) faed feamw

85. OSS stands for :
(A) Open System Service
(B) Open Source Software
(C) Open System Software
(D) Open Synchronized Software
AMuawd, & oo T
(A) e foww dan
(B) 3 W Giwaw
(C) @ fown wiwaR
(D) A fHshMRsS |IwRER
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86. What do you call a specific instruction designed to do a task ?
(A) Command (B) Process
(C) Task (D) Instruction

frdt &wd ® @ & fau @ W™ fatme fw w1 e @ wed ¥ 2

(A) =S (B) WEg
(C) == (D) TERH
87. A........... 1s an application that allows the user to compose and edit simple
documents.
(A) Word processor (B) Spreadsheet
(C) e-Mail utility (D) Browsers

................ Th ey ¥ S SERd #1 W e a9 M SR g w
w1 EAf @ T
(A) 7 TEER (B) Tt

(C) F-9a SymfiTal (D) e

88. The rules that give meaning to the instructions :
(A) Semantics (B) Syntax

(C) Code (D) Cases
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89.

90.

e = e A T fm

(A) v (Semantics) (B) aRfa=m  (Syntax)
(C) =s (Code) (D) ®aS  (Cases)

A digitizer converts................. input into digital input.

(A) Laser (B) Digital

(C) Analog (D) Complex

LI X CARSS D ege o fefsied zge § ufafdad & 2 |

(A) R (B) fesfrem

(C) e (D) vl

Which of the following terms is used when different forms of information like
text, sound are converted to a binary code ?

(A) Digitalization (B) Digitization

(C) Binarization (D) Digization

frefafgs § @ fow o @1 STEM 9 few W 2 W9 UG, tafd S
S & fafa= w9 w 9T wie § URafda R S € ?

(A) fesfiearsi (B) fesitersrm

(C) ERISTH (D) fesform
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91. Obtaining services from a rapidly evolving group of internet users is called :
(A) Outsourcing
(B) Crowd Sourcing
(C) Human Collaboration

(D) Human Computation

e STERAlel & osit § fohfad @ W WgE @ el W A

FEAd T
(A) FrSegifdT
(B) 88 wifdw
(C) 9Ma  H&am

(D) HEE T

92. A computer that operates on digital data :
(A) Remote (B) Hybrid
(C) Analog (D) Digital

~

T HEX W fesed T@ W kW Ha@

(A) fEre (B) =wEfe=

(C) T (D) fesfem
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93. This type of computer is mostly used for automatic operations :
(A) Remote (B) Hybrid

(C) Analog (D) Digital

3 RN & KPR Hl ITEN AfGRR @Eifdd Hued & fau feE S
2:

(A) T (B) =EfEe
(C) A=A (D) fesitea

94, A term that defines the direction of flow of information between devices :
(A) Interconnectivity
(B) Intraconnectivity
(C) Transmission mode

(D) Transmission

TH VR W STRCON &% W e & yae o fRen s oRenfia wwa @
(A) SHAfRfaE

(B) sgrehrfarefadt

(C) zrafrem e

(D) ZiafHem

95. Which of the following isn't related to Computer Network ?
(A) Cache Memory (B) Physical Layer
(C) Full duplex (D) Half duplex
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96.

97.

frafafes & 4 &9 SR deas ¥ defud & T ?

(A) Hw TERI (B) sifdw wa
(C) ®a g (D) TF i

Telephone networks operate in this mode :

(A) simplex (B) half duplex
(C) full duplex (D) semi-duplex
IHER Yook 3@ We F wm e o

(A) forias (B) ®E gwiH
(€) & T (D) wHi-gwi

Which of the following is not a data type ?
(A) Symbolic Data

(B) Alphanumeric Data

(C) Numeric Data

(D) Alphabetic Data

frafafed § @ &G S UER T@l § 2

(A) YdlehTcoHs BT
(B) w1
(C) 9&arH® S

(D) avden %A H BT
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98. What are the entities whose values can be changed called ?
(A) Constants (B) Variables

(C) Modules (D) Tokens

9 THEA FN wedd @ foFe gedl Wl Agen S Wehdl ® 2
(A) feerien B) =R

(C) #isga (D) <A

99. Which of the following is not a keyword ?
(A) Read (B) Write
(C) start (D) endif

frafafes & @ FFw@ FEe W oT 2

(A) Read (B) Write
(C) start (D) endif

100, .................. is used to show hierarchy in a pseudo code.
(A) Indentation (B) Curly Braces
(C) Round Brackets (D) Semicolon

----------------------- ® IWM BI KIS B wHA fEm ® fau e s @)
(A) TIIM (B) hett wfgst
(C) TWTs Iz (D) W
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KEY-SET-D

FOC

Q. No.

Ans

81

82

83

84
85

86

87

88

89

90
91

92

93
94

95

96
97

98
99

100

GK
Q. No.

Ans

61

62

63
64
65
66
67

68
69
70
71

72
73
74
75
76
77
78
79
80

HINDI

Ans

Q. No.

41

42

43

44
45

46

47

48

49

50
51

52
53
54
55

56
57
58
59
60

GE

Ans

Q. No.

21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40

GA

Q. No.

Ans

10
11

12
13
14
15
16
17
18
19
20




